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Readiness Check

1. Suppose you are given only the coordinates for a triangle, TUV.

Using words only, and without looking at your notes:

a) explain how you would find the equation of the median from vertex T.
b) explain how you would find the equation of the right bisector of TU.
c) explain how you would find the equation of the altitude from vertex U.

2. Find an equation for the median from vertex C.

v4 3. Find an equation for the right bisector of BC.
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2. Determine an equation for the right bisector of the line segment
with endpoints C(-5,-3)and D(4,-2).
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Today's Learning Goal(s):

By the end of the class, | will:

a) know all formulas needed for this unit.
b) have anchor charts created for all unit problems.
C) be able to create a practice test to prepare for the unit summative.

(This means you must understand all the topics from this unit, and be able to provide
a mathematical example for each. You may use the assigned homework as a guide.)



2.R2 Readiness Check_Day2-f16.notebook October 6, 2016

Need to know, from Unit 2: Analytic Geometry

Formulas:
slope midpoint length equation of a circle
Vo=V (x+x, y+y, ) 2 2 2 2 _ .2
m=-2-1 e d=\/(x,—x) + — X + =r
Xy =X, k 2 2 ) \/( ’ 1) (y2 yl) Y
Anchor Charts

finding the equation of the median of a triangle from a given vertex
finding the equation of the altitude of a triangle from a given vertex
finding the equation of the perpendicular bisector of a line segment

finding the point of intersection of any of the above

Other Concepts
finding the equation of a line

is a point on a line?

finding the equation of a circle
1s a point inside, outside or on a circle?

chords, diameters, and radius of a circle

parallel vs. perpendicular lines and the relationship between their slopes

converting an entire radical to a mixed radical in lowest terms

proving a geometric figure is:
a right triangle an equilateral triangle a square

an isosceles triangle a rectangle
a scalene triangle
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‘Note: Extra review is posted on the website.
Yesterday’s Review practice:

pp. 100-103 #2b, 4, 8, 11a, 12abc*,

G

14ab, 15, 18

s PN

Error in final answer for 12c: it should read “...y =x - 5...

”

Today’s Review practice:
p- 104 #5, 7,9, 13

Yesterday's solutions follow.
Today's solutions follow those.

Use previous answers if parts a) b) c) etc.

Remind students "exact” means no decimals!
(©

yude

o

-
Z

!
>)

—\"”S(i Cw-'



2.R2 Readiness Check_Day2-f16.notebook

p. 100 #2b
3 , A
; A R e
b) II_I.L]=i s Sy
2 2 )
(444 8+(-2))
| 2 2 )
=(4.3)

The coordinates of the midpoint of L(4, 8) and N{4, -2) are (4, 3).

October 6, 2016
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p. 100 #4 o b) Find the coordinates ofthe midpoint of TV,
. W xx, )
(xp)=] 2——,—2—=|
: S 2 2

_ f—8+4 6+ I'_—-l}xl
2 T
A

/V‘= (—2.1)

Find the slope ofthe median.

o= M. —
WS Xz — X
_ 101
_"'—I'_—_"'}
_ g
s

o
Substitute m = ry and the coordinates of one endpoint, say (—2, 1), to find &.

y=mx+ &
g -

'_=?'_— N+ B
%=_
11

+ &

b | @

L

The equation ofthe median from vertex Uis v =— X+ —.

Chapter 2 Review Question 4 Page 100
¢) Find the slope of UV.
Y1~ h

U2, 10}

1
The slope ofside UV is —7. The slope of the altitude from vertex Tis —.

1
Substitute m = — andthe coordinates ofpoint Tto find .

d) Find the coordinates ofthe midpomt of TU. 1, .
ooy (xEx, v, G=—(-8)+& l - 6
(xy)=| 212 L7T05 6 +- -
2 2 ) 8 %1
§=-=+b =)

=;::—sz+2:s+3;:|:| 3 7 Q_J_J'-\l =b
. 7 ?

1 350
Find the slope of TU. The equation ofthe altitude fromvertex Tis y = —x+—.

; _
Theslope of TU is — . Theslope oftheright bisectorof TU lév_% .
J r4
2
Substitute m= — andthe coordnates ofthe midpoint to find 5.
3

§-% =b
Los .(.L-‘j::(o
> 7

The equation ofthe right bisectorof TUls v=—Zx+

b L
b -
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p. 101 #8 —
Chapter 2 Review Question 8 Page 101

a) Find the coordinates of the midpoint of side

BC.
. . C
. [+X, W+,
(ey)= 22222
\ I I\. 7 7 ),
(1+4 T+(-1))
L 2 o2 J
(5 .)
=153
e A

Find the length of the median.

d= J"C" ) (- n)

‘s .Y L
= IT__I-._:'.] 312

\2 J

|" 1 .

p)
N 55‘;9;) p (°

x J 22
s q
V4
- 93?4_ Al
The length of the median from ‘.‘Et‘tEXAij“.IJ% : = y "l
- (R
b) Find the lengths of the sides. - —_
AB= \,l'c‘ - _]: +(3-n _]: L(

- () (-2 ﬁ o

-
_ o1 ~ __——

CEBE= -Jl:-‘f’l —X _]: + |:.}': -¥ _]: — g) v“l%
=x[':4‘1.]:":‘1‘?.]: '—.,)/

. S
=73

AC= \’ (- _]: +(nm-n _]:

= (1= (5)) = (1=(2)]
_ |",53_93

=4/117

The perimeter of the triangle Ls“JE— J73+ 117 . or about 284N ‘“
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p. 102 #11a v
Chapter 2 Review Question 11 Pagel02
a) Find the slopes of the sides of ADEF.
. =22 . =22 H ~
oE X -x, EF Y-, im 0F
= (
—4—(-2) 6—(—4) .
5 4 My MeF
iy 1

2 0
-2 ' DEJJ_ EF
5 “ BDEF KR
The slopes are negativereciprocals. DE is perpendicular to EF. Therefore, ADEF is a right
triangle with » DEF =90°.
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p. 102 #12abc

Chapter 2 Review

ﬂd=ﬁ%_ﬁf{h_hf

= J(65-45)" +(40-60)’

=800
=283

The distance from A to Bis about 28 3 km.

f " PRI

b) (xy)=| A2 A7H

T2 2 )

(45 +65 60+400

2 Tz )
=(55.50)
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Question 12 Page 102

¢) Find the equation ofline representing the branch pipeline.
_ Tk
B H-X
_ 4060
65-45
=20
" 20
=1

Mg

October 6, 2016

The slope of the line representing the pipelineis —1. The slope of the branch pipeline is 1.

Substitute m =1 and the coordinates of the midpoint to find 5.
y=mx+b

S0 =1(55)+b

—5=b

The equation of the line representing the branch lineis y=x— 5. Check if the given point satisfies

the equation.
LS. =y RB.=x-3
=54 6

[}

-5

I
Ln
@

L.5.ZR.S.

Point Cis not on the branch pipeline.
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p. 102 #14ab
Chapter 2 Review Question 14 Pagel02
a) x'+ 17 =16 7
Pl * ™,
> \.
{ - A
|6 -2 1 x
2 !‘l
= 7
4 o]
2 2
b) x 1+ yl =r VA
_ £1_ .2
(-3) +3*=r (35
34 = p? . 4
An equation for the cirdeis x?+ 1 =34 { ¢ \
Pl |
—% 4 [2o IR )p
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p. 103 #15 «~ 0{ 14
a) x'+y =+ b) x*+ 3 =1 : —-7(
s 2 (41Y LA\ '
X+ =|4T. - 5 XT+ ) =

I]_ 'L-': =E _,I,-.: " _:L-': — 49
" 4
c) I:—}':=r1 d) x*+ 3" =
1 . | 1..."|: :—;:=i‘“:
Xt+yt= 2 =
Ib(' ﬁ'5=i|“‘

An equation for the cirdeis x*+ y*

October 6, 2016
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p. 103 #18 >

Chapter 2 Review Question 18 Page 103
The radius of the signal area is 20km. Check that the cell phone useris within the circular area.

|6 ,).o\

Ko0)
57
The useris less than 20 km from the tower. Signals can be received. 2
L= K\*-‘ja V= oo - X%\G? 3;“
= (L) )LQ\"% =
‘BAY¢/6q

~ 3‘7&/ B
L L RS y
- (15-n3)w nsidy M Ciec@

12
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Today's solutions from p.104

Chapter 2 Chapter Test Question S Page 104

a) x* +y* =36 VA
T+ 1° .
J'fr \'\
b) x*+i17 =7 ,g bl LT ™
2 / 3 \
P +(3) =17 [ 5
18=77 REIENEINEERR AN
) 1 1 1 1_ \ > i
An equation for the cirdeis x“+ 3y =18. \ 2 513 7
"\\ P _‘.IL_._..! fff
M .r"
~ A
Y
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Chapter 2 Chapter Test Question 7 Page 104

a) PS=~jI:-'f1_-'f1_]:—':3"1 _J"l-]: "
- [14—4_]:—(3—3,]: j 5714, 6)
_Ji s 5] }
=f125 4
112 NREDE

The schools are about 11 2 km apart.

o 2 4 5] g 10|12 | 14 %
= L

' |
2 2 )

(e 1Y,
b) (xy)=| 222

(4+14 3+8)
2 2 )

=(9.5.5)
The coordinates of Jason's home are (9, 5.3).

¢) Answers may varyv. For example:

Anvy point on the perpendicular bisector of PS will be equidistant from the two schools.
d) Find the slope of P5.

Y~ h
X

m

=T

o M
I
A,

1

oo

—4

I
| Lh

—
[}

Pa | —

The slope of the right bisector of PSis —2. Substitute m =—2 and the coordinates of the midpoint

to find &.
y=mx+b
5.5=—2[9]—5
5.5=—18+5b
235=5h
=—2x+235

The equation of the right bisector of PSis y=-2x+23.5.

October 6, 2016
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Chapter 2 Chapter Test
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Question9 Page 104

a) vl
PG, 4)
M1, 3) 4
0r5,2) _
5 -8 ~¢ |0 T X
1q]
|2

¢) Find the slope of side QP.

m =.:|"';_.}.]
= T
_ 4-2
3-(-35)
2
3
1
4

b) Find the coordinates ofthe midpoint, M, of QP.

; [ n+x Bt+ny 3
|~x: :.l:'= —_ == |

, :
L2 2
(=5+3 _‘-+-P'|
=| :
"2 T2 )
=({-13)

Find the slope ofthe median.

Substitute m = —— andthe coordinates of one endpoint, say {—1,3), to find &.

yv=mx+b

i=——(-1)+2

bt | =1

3 +b

Lu| i
]
(=)

7 1
The equation ofthe median fromvertex Riz v = 3T

The slope of QP is not the negative reciprocal of the slope of RM. The medianis not an altitude.

October 6, 2016
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Chapter 2 Chapter Test Question13 Pagel0s

a)
YA

b) The boundary of the areais described by the equation x* + 37 =400

c)
= "—:c:—}; - P
= (-8) =16 =f47 <207
= /64 =256 =16 =400
_in = /116
=179 =204
Since »; =20, Arif is inside the circle. Since #; =20, Diane is outside the circle.

Arifisin range, but Dianeis not.

5

@ d=yfn-x) (2 a)
=\II:_E—4:|] _|:1|j—2|:|:|:

Diane and Arif are about 126 km apart. They are within range of each other.

16
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